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DIM A(20, S)al sren = (Srelngesh  Feba,qg
DATA 1;,346,400,290,367 N .
DATA 2,298,378,286,426 L USer v REM Gove wmnlvg gmdetiet @c's,

DATA 3,276,356,281,521 Wy 1ape 12 bust -
DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,7

P = 0: ng O}QSS§B= 6? 8S2 = 0: S83 = 0: 884 =0
FOR J,= 1 TO 18

READW A(X, 2), A(X, 3), A(X, 4), A(X, 5)
'PRINT 5%, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

V = A(X, 2) / 1000: Z = A(X, 3) / 1000: W = A(X, 4) / 1000: T = A(X, 5)
P=P+ LOG(Z): Q = Q + LOG(1 - Z)
U=12
S81 = 8S1 + T * (V * LOG(U) + (1 - V) * LOG(1 -~ U))
=W v
SS2 = 8§82 + T * (V * LOG(U) + (1 - V) * LOG(1 - U)) A
=0 * Z + .26539 Uss varous Comnalr to gt dobmb. esbomobovs.  Baals o L 1oF % 995 v, 276
SS3 = 883 + T * (V * LOG(U) + (1 - V) * LOG(1 - U)) —
= v (o w521
SS4 = 884 + T * (V * LOG(U) + (1 - V) * LOG(1 - U))
NEXT

P = EXP(P / 18): Q = EXP(Q / 18)
‘PRINT P, Q, 1 / (1 - P - Q)
PRINT

PRINT SS1:; "Simple Mean"

PRINT SS3; "My Best"

PRINT SS2; "Stein"

PRINT SS4; "Apostereori"

- e

.
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bor
’STEIN5.BAS s
DIM A(20, 5) -
DATA 1,346,400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,3%1,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510
DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA -13,303,222,254,435
DATA 14,264,222,254,538
DATA 15,226,222,254,186 .
DATA 16,285,200,249,558 —
DATA 17,316,178,244,408
DATA 18,200,156,239,70

A

PV
FOR J = 1“%6 18

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

’(I\’

NEXT

X =132: Y =368: C=1: D =1

30 FOR J = 1 TO 18 &— y ST 8D wam et veeamtaizd o By .
Z = A(J, 3) * .045 weMF = ;95

C=C* (X+2Z) J(X+Y+ 45): D=D* (Y + (45 -~ Z)) / (X + Y + 45)
NEXT

C=C~(1/18): D=D ~» (1 / 18)

X=(c/(1-C-D)=-1) /2: ¥Y=(D/ (1 -C=D) -1) / 2
PRINT X, Y

INPUT H

GOTO 30 T
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49y smeT Sté@

e
! "STEINY¥. BAS
DIM A(20, 5) ) . ’
DATA 1,346,400,290,367 Varg v b STelns. @y )
DATA 2,298,378,286,426 . S
DATA 3,276,356,281,521 ‘

DATA 4,222,333,277,275 ' ) -
DATA 5,273,311,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510
DATA 10,230,244,259,200
DATA 11,264,222,254,277.
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70

FORJ = 1 TO 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

NEXT

R = 500 -

30 X = * .2165: Y=R ~X: C=1: D=1 N "

40 FOR J = 1 TO 18 TEE emne TR T303T " vy
Z = A(J, 3) * .045

C=C* (X+2Z) / (X+Y+ 45): D=D * (Y + (45 ~- Z))Y / (X + Y + 45)
NEXT

C=C~” (1 /18): D=D *~ (1 / 18)
X=((CX(1-C-D))-1)/2:¢=(D/(1-C-D))-1)/2

PRINT X, ¥, X + ¥, X / (X + Y)
INPUT R
GOTO
¢ L \W\/Mw GtoBO > Go TOqo e WAL gyt D & vwr] Qwe, 't

R22%70icP, Vo 5550966 JQ*)—* (0942,
Bem 2 £ vefoene Go Yo o,

Q!t\-’l\\? (.d\w-zcs ke

STy T lGfRgs
end (et & 5 106.94¢ PR o K= ‘977‘64 lf
' ’

O tt] L Grestee tommituieg < D, 24?.?@235' .l



2599 SMEeT STew
"

- *STEIN7.BAS )
DIH A(20,-5) /
DATA 1,346, 400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273, 466
- DATA 7,263,289, 268,586
'~ DATA 8,210,267, 264,138
T DATA 9,269, 244,259, 510
r DATA 10,230, 244,259,200
-DATA 11,264,222,254,277
DATA 12,256,222,254,270  {
. DATA 13,303,222,254,435
DATA 14,264,227, 254,538
DATA 15,226,222, 254,186
DATA 16,285,200, 249,558
DATA 17,316,178, 244,408
. DATA 18,200,156,239,70

"m

FJ=17018
— whichn t [
;gg X, A%, 2), A(%, 3), A(X, 4), A(X, 5) €C> whidhay ik LA w

R = 450: U = .265 N
WYX=R¥D:V=(1-0) %R e 'f,«%
‘A=Y PL:B=Y+1:E=A+B K S

G = (B * LOG(E) - A # LOG(A) - B * LOG(B)D)1 / 2 * LOG(E / A / B / 2 / 3.14159268)) * 18
FOR J = 110 18

SEENTEFEEEIT B EX IS TS FY (N TS FY F 81

© 6=G+H*LOG(H) + L * LOG(L) - F ¥ LOG(F)

HEXT
PRINT R, U, G
. INPOT R, U
k. coto 30

N C U Py eanh vk U= 2o, b6 P 3‘#‘— by 76 W wMan & o> dooviad ¢

=
e =B R +w {nl@w) _'f'i‘ ¢ 357 ))“8

Qs h=
{ 56 ve vppar/bud for & | v25%q \
¢ . 29737 /1.3
N . -2
= S oy ) Grrded~ Ao, B2y, Espeg =\ 3

T
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2-7'99,

DIH A(20, 5)
DATA 1,346,400,290, 67
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4)222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273,466 -
DATA 7,263,289,268,586
DATA 8,210,267,264;138
DATA 9,269,244,259,510
- DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
¥DATA 14,264,222,254,538
'DATA 15,226,222,254,186
{DATA 16,285,200,249, 558
DATA 17,316,178, 244 408

-2 SeiNg.bay,

The Joon ko -;U..B‘,
%’M‘f«-h \s,

aliwr s eun of £& N Rret- T -

Coon gt 5@"‘") f oy seot G - wac

De P vy gf é. .

Thin & valuws® & 13 e ke ;s sa for K= WM ST\
"

z(—# a3 mueh,

Tk-&r(uu-\-&- G & (ine &é‘ € Macke sut an L'\ o 6

»
Mocwmzn Locbr of ; -(.*2 ,...e)\(d.‘,,". (T &8 % S ¢o cmek u\nmngk,y.cgj
(-]

para 18,200,156,239,70 A\
4
o FORJ =110 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5) i
HE
30 K= 18 ,
R=450: U = .265 § Lo
0f=R*U:Y=(1-0)+R -
A=X:B=Y:E=2+B y e«
«G=(E$IDG(E)-A*LOG(A)-B*LOG(B)+DOG(B+1)+1/2*LOG(E/A/B/2/31415926#))*K
lmRJ=1TOK s s iy
505 = 054 A(J, 3): H=X+2:L=Y+45-0:F=H+1 _ Sty r—
¢oG =G+ § * LOG(H) + L *:L0G(L) - F * LOG(F) =il
NEXT STY gty
PRINT R, U, 6 *Uexy
IWUTR,U {o 13
| G070 30 TR
l G, 2901
’ (&:
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DIM A
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

FOR J =

sSMET sTe'w

(20, 5)

1,346,400,290,367
2,298,378,286,426
3,276,356,281,521
4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244,259,200
11,264,222,254,277
12,256,222,254,270
13,303,222,254,435
14,264,222,254,538
15,226,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156,239,70

1 TO 18

*ST42.BAS

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

NEXT

PRINT
G =
FOR
U
A
G
G

0:
J
U
]
G

NEXT
PRINT
U L d
A =U:

= (A * LOG(A) + B * LOG(B)) * K * N
Gl =Gl +1/ 2 * LOG(A * B

PRINT

K= 18: N = 210
=1T0K

.001 * A(J, 3)

: B= (1 - U)

+ (A * LOG(A) + B
+ 1/ 2 * LOG(A *

N, G e

)

*
B

265 @5889 U265 3Ed

: B= (1 - U)

Gl, G - G1

-
S N wey vavied 25 aw et

LOG(B
* 6.2

)) *
8318

N
*

N) - ‘LOG(N + 1)

* 6.28318 * K * N) - LOG(K * N +

< mk%—

53
& 4

é 7



21699 SMET S Te.n
DEFDBL A-7Z
! STEINY BAS
DIM A(20, 5) 1 o T FE g

DATA 1,346,400,290,367 -
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510
DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70

FOR J =1 TO 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

NEXT
K = 18

U = .2653889: N = 45

FOR JJ = 0 TO 22: R=1 % 2 A (JJ) 1

30 X=R*U: ¥Y=(1-U) *R

A=X:B=Y:E=2A+B

G=E * LOG(E) - A * LOG(A) - B * LOG(B) + LOG(E + 1)
G=(G+1/2*LOG(E/A/B/ 2/ 3.141592654)) * K

FOR J = 1 TO K

Z=N#*A(J, 3) /1000: H=X+ 2: L=Y +N-2: F=H + L
G=0G+H * LOG(H) + L * LOG(L) - F * LOG(F)

G=0G+1/2* LOG(H * L * 2 * 3.141592654/ F) - LOG(F + 1)
NEXT J

PRINT U, R, G

0 ~»
o,



PRINT
DEFDBL A-Z
' STEINS0 . BAS
DIM A(20, 5) D
DATA 1,346,400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510
DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538 /
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70

FOR J =1 TO 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

NEXT
K = 18
U = .2653889: N = 45

—FOR JJ = 0 TO 11: R = .81 * 2 ~ (JJ / 1)
30 X=R*U: Y=(1L-U) *R
A=X:B=Y:E=2a+B
G =E * LOG(E) - A * LOG(A) - B * LOG(B) + LOG(E + 1)
G=(G+1/2*LOG(E/A/B/ 2/ 3.14159)) * K
ORJ =1TO K
Z=N*A(J, 3) /1000: H=X+ 2: L=Y +N~-2: F=H+ L
G=G+H* LOG(H) + L * LOG(L) - F * LOG(F)
G=G+1/2*LOG(H*L * 2 * 3,14159 / F) - LOG(F + 1)
NEXT J
PRINT U; R; G; G - 2*LOG(R)

NEXT JJ



PRINT

DEFDBL A-Z

DIM A
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

FOR J

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

NEXT
K=1
Uu=.

FOR JJ = 0 TO 24 : R =1*%.,707 * 2 ~ (JJ / 2)
30 X=R*U: Y=(1 ~-U) #R

A =X
G

2N R-—A]

(G +1/

(20, 5)
1,346,400,290,367
2,298,378,286,426
3,276,356 ,281,521
4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244,259,200
11,264,222,254,277
12,256,222,254,270
13,303,222,254,435
14,264,222,254,538
15,226,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156 ,239,70

=1 TO 18

8
2653889: N

45
t: B=Y: E A+ B

TO K

*ST61.BAS

1
A(J, 3) /1000: H=X+ 2: L=Y + N - Z: F
H *+ LOG(H) + L * LOG(L) - F * LOG(F)
1
0

THEN PRINT R; G; (G - G1)/LOG(2)*2

‘E * LOG(E) < A * LOG(A) - B * LOG(B) + LOG(E + 1)
2 * LOG(E /A /B / 2 / 3.14159)) * K

H+ L

/ 2 * LOG(H *# L * 2 * 3,14159 / F) - LOG(F + 1)



'ST63
DIM A(20, 5)
DATA 1,346,400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510
DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70
P=20: Q=0: SS1 = 0: 882 = 0: SS3 = 0: SS4 =0
FORJ =1 TO 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)
V = A(X, 2) / 1000: Z = A(X, 3) / 1000: W = A(X, 4) / 1000: T = A(X, 5)
P=P+ LOG(Z): Q = Q + LOG(1 - 2Z)
AA=AA+((.265-2)72)/2/(1-2)
NEXT
P = EXP(P / 18): Q = EXP(Q / 18)
PRINT
PRINT AA*45/18



PRINT 'ST64
DIM A(20, 5) ‘
DATA 1,346,400,290,367

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70

U=,2653889:K=18:N=45

FOR J = 1 TO K
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)
NEXT J

10 FOR JJ=-10 TO -1: A=1+JJ/2000
§S8=0: SM=0

FOR J =1 TO K

Z = A(J, 3) / 1000

ZZ=A*U+(1-2A)*Z 2eqe 4.V o+ e pa ~jé= A (-2
SGS=2*(1-%) /N

SM=SM+(2-22)~2/SGS E-22)* @ (v-=))*
—3 - A
}Sigxgss(zz U)~2 Gz~ = (_\-A)z. -~y v = Q~afy-z,)=-
- 22 -v s A, A~
S$S=SS/K YRSARW v Auay, oz oeps
PRINT A,~-(LOG(SS)*K/2)-SM/2 S AR UAD 4 m
NEXT JJ €W = gea) (a
INPUT U P N
GOTO 10 LI = "(o-z-\)‘.
e 55 = G-ud2
T vl
*vdwﬂt-@} * bbc\;w&_ 2t < b G
s 4 ] "‘*“"‘-"Guem\_

3



PRINT # 'ST67
DIM A(20, 5)

DATA 1,346,400,290,367

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510 \ *
DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70

U=.2653889:K=18:N=45:A=,1

FOR J =1 TO K
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)
NEXT J

30 FOR JJd=1 TO 20: S=3JJ3/200
S1=0: 82=0

FOR J =1 TO K [ ook 6"’: for some LVets Sunmolifn /
z = A(J, 3) / 1000 :
UU=A*U+(1-A)*2
S1=81+(U-UU)~2
S2=52+(UU-2)~2/2/(1~32)
NEXT J

S1=81/5~2

§52=S2*N

PRINT A,S,S*(-K/2)*EXP(~-(S1+S2)/2)
NEXT JJ

INPUT A

GOTO 30 p



DATA
“DATA
DATA
DATA
DATA
+DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

PRINT
DIM A(20, 5)

1,346,400,290,367
2,298,378,286,426
3,276,356,281,521
-4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244 ,259,200
11,264,222,254,277
12,256,222,254,270
13,303,222,254,435
14,264,222,254,538
15,226,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156,239,70

399 SMET SsTES W

X

U=,2653889:K=18:N=45:A=,1

FOR J = 1 TO K
READ X, A(X, 2), A(X, 3), A(X, 4),
NEXT J

30 FOR JJ=1 TO 20: S=JJ/200
$1=0: S2=0

OR J = 1 TO K
Z = A(J, 3) / 1000
UU=A*U+(1~A)*Z
S1=S1+(U-UU}~2
S2=S2H(UU~Z)}~2/Z/(1-2)
NEXT J

S1=S1/542

S2=52*N

PRINT A,S,(SA(-K/2)*EXP(-(S1+52)/2)
UNEXT g3

INPUT A

GOTO 30

~7

T N

7 o
ST67 > é_

/
7
A(X, 5)



PRINT

DIM A(20, 5):DEFDBL A-Z

DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

1,346,400,290,367
2,298,378,286,426
3,276,356,281,521
4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244,259,200
11,264,222,254,277
12,256,222,254,270
13,303,222,254,435
14,264,222,254,538
15,226,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156,239,70

U=.265:K=18:N=45:4=.1

FOR J =1 TO K
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)
NEXT J

30 INTT=0

FOR JJ=1 TO 100: S=JJ/100
S1=0:

S2=0

FOR J = 1 TO K
2 = A(J, 3) / 1000
UU=A*U+({1-A)*Z
S1=S1+(U-UU)~2

S2=82+((UU-Z)~2)/2/(1-2)

NEXT

J

S1=81/872
S2=82*N

INTT=INTT+ (S~(-K/2))*EXP(~-(S1+S82)/2)

NEXT JJ
PRINT A,INTT/100000000
INPUT A

GOTO

30



DIM A(20, 5)

DATA 1,346,400,290,367

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70

SS=0: K=18: U=.2653889

FOR J = 1 TO K

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

V = A(X, 2) / 1000: 2 = A(X, 3) / 1000: W = A(X, 4) / 1000: T = A(X, 5)
SS=SS+Z*LOG(Z)+(1-2)*LOG(1-2)

NEXT

S5=8SS/K

SU=U*LOG(U}+(1~U)*LOG(1-U)

PRINT .

PRINT EXP(SS) ,EXP(SU), EXP(SS-SU)



DIM A
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

K=18:N=45:5S=0:SS=0:P = 1: Q = 1: SS1 = 0: SS2 = 0: SS3 = 0

FOR J

(20, 5)
1,346,400,290,367
2,298,378,286,426
3,276,356 ,281,521
4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244,259,200
11,264,222,254,277
12,256,222,254,270
13,303,222,254,435
14,264,222,254,538
15,226 ,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156,239,70

= 1 TO 18

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)
‘PRINT X, A(X, 2), A(X,

V=A
P=Pp
S=S+2
SS1
Ss2
SS3
S54
NEXT
P=P

'PRINT P, Q, 1 / (1

(X, 2) / 1000: % =
* Z: Q=0Q % (1 -
1 SS=SS+2*Z

SS1 + (V - 2) ~ 2
SS2 + (V - W) ~ 2
SS3 + (V - (N * 2
SS4 + 2

A~ (1 /18): Q=0Q
P

3), A(X, 4), A(X, 5)
A(X, 3) / 1000: W = A(X, 4) / 1000
Z)

+775%.2653889) /(775+N) )} A 2

(1 /7 18)
- Q)

PRINT SS1, SS2, SS3, SS4 / 18

U=S/K

SIG=SS/K-U*U:NN=1/(SIG/U/(1~U)) :R=N*NN/(N-NN)

PRINT

U,SIG,NN,R

N



DEFDBL A-Z

DIM A
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

(20, 5)
1,346,400,290,367
2,298,378,286,426
3,276,356,281,521
4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244,259, 200
11,264,222,254,277
12,256,222,254,270
13,303,222,254,435
14,264,222,254,538
15,226,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156,239,70

!ST76A

WW=775:K=18:N=45:P = 1: Q@ = 1:S=0:SS=0: SS1 = 0:; 8S2 = 0:

FOR J
READ

V=aA
P=P
5=8S+2
S81 =
S5S82
SS3
SS4
NEXT

P=P

oK

U=S/K

=1 TO 18
X, A(X, 2), A(X,
(X, 2) / 1000: Z =
* Z: Q=0Q * (1 -
1 SS=SS+2+Z

SS1 + (V - 2) ~ 2
8S2 + (V - W) A 2
SS3 + (V- (N * 2
SS4 + Z

3), A(X, 4), A(X, 5)

A(X, 3) / 1000: W = A(X, 4) / 1000
z)

+WW*.2653889) /(WW+N) ) ~ 2

~ (1 /18): Q=0 * (1 / 18)
‘PRINT P, Q, 1 / (1 - P
PRINT WW,SS1, SS2, SS3, SS4 / 18

SIG=SS/K-U*U:NN=U*(1-U)/SIG:R=N*NN/(N-NN)

PRINT

SIG,NN,R



DEFDBL A-Z%
’ST77A

DATA 1,346,400,290,367

DATA 2,298,378,286,426 i

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466 |

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256 ,222,254,270

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70

RANDOMIZE TIMER

K=18:N=45:5=0:S5=0

DIM A(K, 5)

UU=.2653889: R=100

FOR JJ=1 TO K: X=0

FOR J=1 TO R

IF RND < UU THEN X=X+1

NEXT J -

X=X/R: Y=0: ‘PRINT JJ,X

FOR L=1 TO N

IF RND < X THEN Y=Y+l

NEXT L

A(JJ,3)=Y*1000/N: ‘PRINT JJ,A(JJ,3)

NEXT JJ

FOR J = 1 TO K
GOTO 30

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

30 V = A(X, 2) / 1000: Z = A(J, 3) / 1000: W = A(X, 4) / 1000
S=S+Z:S5=SS+Z*Z: ’‘PRINT J,2

NEXT J

=5 /K

SIG=SS/K-U*U:AA=SIG~U/N+SS/K/N:RR=U#* (1-U) /AA

PRINT SIG,RR,R



DIM A
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

STaa ™ dadn,

DEFDBL A-2 T e

(20, 2 Stwih. oy
1,346,400,290,367
2,298,378,286,426
3,276,356,281,521
4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244,259,200
11,264,222,254,277
12,256,222,254,270
13,303,222,254,435
14,264,222,254,538
15,226,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156,239,70

"ST77B

WW=552 :K=18:N=45:P = 1: Q = 1:S=0:SS=0: SS1 = 0: SS2 = 0:

FOR J
READ .
V=A
P=P
S=5+7
Ss1
552
SS3
SS4
NEXT
P=P

nwa

=1 TO 18
X, A(X, 2), A(X,
(X, 2) / 1000: 2 =
* Z2: Q=Q * (1 -
:SS=SS+2*7

SS1 + (V -~ 2) ~ 2
SS2 + (V- W) ~ 2
SS3 + (V- (N * 2
SS4 + 2

(1 /18): Q=20

‘PRINT P, Q, 1 / (1 - P
PRINT WW,SS1, SS2, SS3, SS4 / 18

U=S/K

3), A(X, 4), A(X, 5)

A(X, 3) / 1000: W = A(X, 4) / 1000
ZY

+WW*,2653889) /(WW+N) ) ~ 2

A (1 / 18)
- Q)

SIG=SS/K-U*U:AA=SIG-U/N+SS/K/N:R=U*(1-U) /AA

PRINT.

SIG,R



DEFDBL A-2
rST77A->ST81

DATA 1,346,400,290,367 —

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222,254,435 ,

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70

RANDOMIZE TIMER

K=18:N=45:5=0:5S=0

DIM A(K, 5)

UU=.2653889: R=100

FOR JJ=1 TO K: X=0

FOR J=1 TO R

IF RND < UU THEN X=X+1

NEXT J

X=X/R: Y=0: ’PRINT JJ,X

FOR L=1 TO N

IF RND < X THEN Y=Y+1

NEXT L

A(JJ,3)=Y*1000/N: ‘PRINT JJ,A(JJ,3)

NEXT JJ

FOR J =1 TO K

'GOTO 30

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

30 V = A(X, 2) / 1000: Z = A(J, 3) / 1000: W = A(X, 4) / 1000
=S+2:SS=SS+Z*Z: ’‘PRINT J,2

NEXT J

U=S/K

SIG=SS/K-U*U:AA=SIG-U/N+SS/K/N:RR=U*(1-U) /AA

PRINT SIG-U*(1-U)/N/K ,SS/K’ ,RR,R



DEFDBL A-Z
*ST81A.BAS

DIM A(20, 5) —_

DATA 1,346,400,290,367

DATA 2,298,378,286,426 .

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277 ]

DATA 12,256,222,254,270 ]

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70

FOR J =1 TO 18

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

NEXT

K = 18

U = .2653889: UU=.4: N = 45: S1=0: S2=0

FOR R = 2 TO 100000 STEP 10

30 X=R *U: Y= (1 ~-U) *R

X: B=Y: E=A+B

E * LOG(E) - A * LOG(A) - B * LOG(B) + LOG(E + 1)
(G+1 /2 *LOG(E / A/ B/ 2 / 3.141592654)) * K

GON300>
[ I I~ I I I

J=1T0K
N*A(J, 3) /1000t H=X+2: L=Y+ N~-2: F=H + L
G+ H * LOG(H) + L * LOG(L) - F * LOG(F)
G+ 1/ 2 * LOG(H * L * 2 * 3,141592654/ F) - LOG(F + 1)
NEXT J
G=G+460

LL=LOG(R)~2
IGD=EXP(G)/R/LL

$1=S1+IGD
S2=S2+IGD*R*U/(R+N) 7 (RXU+N*UU) / (R+N)

NEXT R

PRINT S1,S2,S2/S1,N*S2/S1/(U-S2/S1) * (N*UU-N*S2/S1) /(S2/S1-U)

‘THIS PGM WORKS FINE FOR UU=0, SO THAT'’S WHAT THIS IS.
IN ASSIGNMENT OF S2 AND I N FINAL P.O., U CAN BE SET TO 1



DEFDBL A-3
DIM A(20, 5) *ST77B-->ST82
DATA 1,346,400,290,367

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70

WW=552 :K=18:N=45:P = 1: Q = 1:S=0:SS=0: SS1 = 0: SS2 = O:

FOR J = 1 TO 18

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

V = A(X, 2) / 1000: Z = A(X, 3) / 1000: W = A(X, 4) / 1000
P=P*2: Q=0Q * (1 - Z)

S=S+V*A(J,5) :SS=SS+A(J,5)

SS1 = 881 + (V- 2) ~ 2

SS2 = SS2 + (V - W) ~ 2

SS3 = 883 + (V - (N * Z +WW*.2653889)/(WW+N) ) ~ 2
S84 = SS4 + Z

NEXT

P=P+ (1 ,/18): Q=0Q ~ (1 / 18)

‘PRINT P, Q, 1 / (1 - P - Q)

*PRINT WW,SS1, SS2, SS3, SS4 / 18

U=S/K
SIG=SS/K~U*U:AA=SIG-U/N+SS/K/N:R=U*(1-U) /AA
PRINT S,SS,S/SS



DIM A(20, 5) 'ST76-~->ST82A
DATA 1,346,400,290,367

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70
RR=160:K=18:N=45:5S=0:SS=0:P = 1: Q = 1: SS1 = 0: SS2 = 0: SS3 = 0:
DEL=.0081

U=.2653889+DEL

FOR J = 1 TO 18

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

V = A(X, 2) / 1000: Z = A(X, 3) / 1000+DEL: W = A(X, 4) / 1000+DEL
VV=A(X,5)

S=S+Z:SS=SS+2Z*Z

SS1 = SS1 + VV*(V = Z) ~ 2

SS2 = SS2 + VV*(V -~ W) ~ 2

SS3 = SS3 + VVA(V - (N * Z +RR*U)/(RR+N) ) ~ 2
SS4 = S84 + 2

NEXT

PRINT SS1, SS2, SS3, SS4 / 18

U=S/K

SIG=SS/K-U*U:NN=1/(SIG/U/(1-U)) :R=N*NN/(N~NN)
PRINT U,SIG,NN,R



DIM A(20, 5) ! ST76-~>ST82A~~>83A
DATA 1,346,400,290,367

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70

RR=10000 :K=18:N=45:5S=0:SS=0:P = 1: Q = 1: SS1 = 0: SS2 = 0: SS3 =
DEL=.0091

U=.2653889+DEL

FOR J = 1 TO 18

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

V = A(X, 2) / 1000: Z = A(X, 3) / 1000+DEL: W = A(X, 4) / 1000+DEL
VV=A(X,5)

S=S+7:SS=SS+Z%2

22=2

SS1 = SS1 + VV*(V*LOG(ZZ) + (1-V)*LOG(1-22))
ZZ=W

SS2 = SS2 + VV*(V*LOG(ZZ) + (1-V)*LOG(1-2Z))
2Z=(N * Z +RR*U)/(RR+N)

SS3 = SS3 + VV*(V*LOG(2Z) + (1-V)*LOG(1-2%))
NEXT

PRINT RR, SS3, SS1, SS2

U=S/K

SIG=SS/K-U*U:NN=1/(SIG/U/(1~U)) :R=N*NN/(N-NN)
*PRINT U,SIG,NN,R



DIM A
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

RR=212:K=18:N=45:8=0:88=0:P = 1

DEL=.
U=.26

(20, 5)
1,346,400,290,367
2,298,378,286,426
3,276,356,281,521
4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244,259, 200
11,264,222,254,277

12,256,222,254,270

13,303,222,254,435
14,264,222,254,538
15,226,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156,239,70

0091
53889+DEL

FOR J°= 1 TO 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)
V = A(X, 2) / 1000: 2 = A(X, 3) / 1000+DEL: W

S=5+2

SS1 =,SS1 + VV*(V - 2Z) ~ 2
$S2 </ $82 + VVA(V .~ W) ~ 2
SS3 £ 883 + VV*(V - U)A2
NEXT

PRINT SS1, SS2, SS3, RR
U=S/K

:SS=SS+Z2*Z

ST76-->ST82A~~>ST84

Q =1: 881 =

\§IG=SS/K~U*U:NN=1/(SIG/U/(l-U)):R=N*NN/(N-NN)

v

PRINT U,SIG,NN,R

= A(X, 4) / 1000: VV=A(X,5)

'(N * 2 +RR*U)/(RR+N) ) ~ 2



»

2 = 4
veross. af%,
’ST81A.BAS-->ST83.BAS
DIM A(20, 5)
DATA 1,346,400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510\>
DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538 ™\ ‘
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,209,156,239,70
m; AL e sz
FOR J =1 TO 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

K o 18: (I~ Mol o bo ST B (A
U = .2653 UU=.4: N = 45: S1=0: S2=0
FOR R = 20 TO B1

I O see\i

30 X =R * U: ¥ (1 -U) R

A=X: B=Y: E A+ B_

G =E * LOG(E) - A * LOG(A) - B * LOG(B) + LOG(E + 1)

G=(G+1 /2 *LOG(E/A /B / 2/ 3.141592654)) * K

FORJ =1 TO K

Z =N * A(J, 3)/1000+H=X+Z:~L=Y+N-—Z:F=H+L
G =G+ H* LOG(H) + L * LOG(L) - F * LOG(F)

G=G+1 /2 * LOG(H * L * 2 * 3,141592654/ F) - LOG(F + 1)

NEXT J

LL=LOG(R)~2
IGD=EXP(G)/R/LL

S1=S1+IGD
S2=52+IGD*R*U/(R+N) * (R¥U+N*UU) / (R+N)

NEXT R

PRINT S1,S2,S2/S1,N*S2/S1/(U-S2/S1) ! (N*UU~N*S2/S1) /(S2/S1-U)

‘THIS PGM WORKS FINE FOR UU=0, SO THAT’S WHAT THIS IS.
’IN ASSIGNMENT OF S2 AND IN FINAL P.O., U CAN BE SET TO 1



DIM A(20, 5) ! ST76~~>ST82A~~->ST84
DATA 1,346,400,290,367

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222,254,435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244,408

DATA 18,200,156,239,70

RR=212:K=18:N=45:5=0:8S=0:P = 1: Q = 1: SS1 = 0: SS2 = 0: SS3 = 0: SS4 =
DEL=.0091

U=, 2653889+DEL

FORJ = 1 TO 18

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

V = A(X, 2) / 1000: Z = A(X, 3) / 10004+DEL: W = A(X, 4) / 1000: VV=A(X,5)
S=S+7:SS=SS+2+72

SS1 = SS1 + VU*(V = Z) A 2

SS2 = 882 + VV*(V - W) ~ 2

SS3 = S83 + VV*(V - U)A2 ‘(N * Z +RR*U)/(RR+N) ) ~ 2
NEXT

PRINT SS1, SS2, SS3, RR

U=S/K

SIG=SS/K-U*U:NN=1/(SIG/U/(1-U)) :R=N*NN/(N-NN)
PRINT U,SIG,NN,R



S$3=.404475
A=1.6811069’1.6189
B=2.3565'2.2392
C=2.7605'2.6083
D=3.02964882.8541
BA=B-A

CB=C-B

DC=D-C

*PRINT CB/BA,DC/CB’BA
*PRINT 2*D-A

*PRINT 4*B-3*A 745%(1+(2*D-A)/S3)
PRINT 5*C-4+B

T 90



PRINT
DEFDBL A-2

* STEIN50~>ST93
DIM A(20, 5)
DATA 1,346,400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510
DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70

FOR J = 1 TO 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

NEXT

K = 18

U = .2653889+.0091: N = 45 -

FOR JJ = 4 TO 26: R = .81 * 2 ~ (JJ / 2)
30X =R *U: Y= (1 -U) *R ,
A : B=Y: E=A + B

G =E * LOG(E) - A * LOG(A) - B * LOG(B) + LOG(E + 1)
=(G+1/2*LOG(E/A /B / 2/ 3.14159)) * K

FOR J = 1 TO K

N=A(J,5)

Z=N*A(J, 2) / 1000: H =X + 2: L =Y+ N

G=G+H* LOG(H) + L * LOG(L) - F * os F)

G=G+1/2*LOG(H * L * 2 % 3. 4159 / F)

NEXT J

PRINT U; R; G; G - 2*LOG(R)

NEXT JJ

-2Z2: F=H+ L

- LOG(F + 1)



DEFDBL A-Z

’ST81A~>ST83~>ST96
DIM A(20, 5)
DATA 1,346,400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510 i
DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435 :
DATA 14,264,222,254,538
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70
CC=8: HIT= 0’1000
FOR J = 1 TO 18
READ X, A(X, 2}, A(X, 3), A(X, 4), A(X, 5)
IF X=CC THEN A(J,3)=(A(J,3)*45+HIT)/46: PRINT A(J,3)

NEXT
K = 18
U = .2653889: U=(U*810+HIT/1000)/811: N = 45: S1=0 ’: S2=0

R=1000: Gl= 0

10 GOSUB 100

IF ABS(G-Gl) < .001 THEN.GOTO 20
R=R+1000: G1=G: GOTO 10

20 RR=R: GG=G

PRINT RR,EXP(G),EXP(Gl)

FOR R = 2 TO RR

GOSUB 100

LL=LOG(R)*2

IGD=EXP(G)/R/LL

S1=S1+IGD

NEXT R

ESENT S1,S1+EXP(GG)/LOG(RR) ' S2,52/S1,N*S2/S1/(1-S2/81) ' (N*UU~-N*S2/S1)
'THIS PGM WORKS FINE FOR UU=0, SO THAT’S
*IN ASSIGNMENT OF S2 AND IN FINAL P.O.,

100

X=R*U:Y=(1-U) *R

A=X:B=Y: E=A+B -

G =FE * LOG(E) -~ A * LOG(A) - B * LOG(B} + LOG(E + 1)

G=(G+1/2*LOG(E/A /B / 2/ 3.141592654)) * K

FOR J =1 TO K
IF J=CC THEN N=46 ELSE N=45 '

Z =N*A(J, 3) /1000 t: H=X+ Z2: L=Y + N~-2: F=H + L
G=G+ H* LOG(H) + L * LOG(L) - F * LOG(F)
G=G+ 1/ 2 % LOG(H * L * 2 % 3.141592654/ F) - LOG(F + 1)

—

NEXT J
RETURN



’#Odiwch

00 ’ ?ﬁz-.'bﬁ‘*‘ éT[Q°‘5‘¥
=R*U: Y= (1 -0U) *R
=X: B=Y: E=A+B
= E * (E) - A * LOG(A) -~ B * LOG(B) + LOG(E + 1)
=(G+ 1/ 2 * LOG(E / A/ B/ 2/ 3.141592654)) * K
ORJ =1 TO K
IF J=CC THEN N=46 ELSE N=45
Z=N%*A(J, 3) /1000 : H=X+Z: L=Y+N-—-2: F=H+ L
G=G+ H * LOG(H) + L * LOG(L) - F * LOG(F)
G ; G+ 1/ 2 * LOG(H * L, * 2 =* 3.141592654/ F) - LOG(F + 1)
NEXT J

RETURN :




PRINT
DEFDBL A-2Z

ST81A->ST83->ST96~->ST100
DIM A(20, 5)
“— OATA rotouanty o wmted Fron s et | oo
FOR J =1 TO 18 v
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)
NEXT J

K = 18: N=45: EPS=.01
UU = .2653889+.0091: S1=0: S$2=0:S3=0: S4=0

FOR CC=1 TO 18

S1=0: HIT=0

U=(UU*810+HIT/1000) /811

A(CC,3)=(A(CC,3)*45+HIT) /46 *: PRINT A(CC,3) .

R=1000: Gl= O

10 GOSUB 100

IF ABS(G-Gl) < EPS THEN GOTO 20

R=R+1000: G1l=G: GOTO 10 : i
20 RR=R: GG=G

*PRINT RR,EXP(G),EXP(G1) Y

FOR R = 2 TO RR

GOSUB 100

LL=LOG(R)~2

IGD=EXP(G)/R/LL

S1=S1+IGD

NEXT R

HO= S1+EXP(GG)/LOG(RR) * :PRINT HO

S1=0: HIT=1000
U=(UU*810+HIT/1000) /811
A(CC,3)=(A(CC,3)+1000/46) : PRINT A(CC,3)

R=1000: Gi= O

40 GOSUB 100

IF ABS(G-Gl) < EPS THEN GOTO 60
R=R+1000: G1=G: GOTO 40 '
60 RR=R: GG=G

'PRINT RR,EXP(G),EXP(G1)

FOR R = 2 TO RR
GOSUB 100

LL=LOG(R)~2

IGD=EXP{G)/R/LL

S1=S1+IGD

NEXT R . oxéxq;
H1=S1+EXP(GG)/LOG(RR) ’: PRINT H1 (,“\(df N
A(CC,3)=A(CC,3)*46/45-1000/45 i ?"’Q(L\
BA=1000*H1/(HO+H1)

PRINT USING "## ###.4### #¥¥¥. 44 #4344 3% HE&#.44#7; CC,BAS (A(CC,3)-1000*UU),
BA=BA/1000

S2=82+A(CC,5)*A(CC,2) /1000*LOG(BA)+(A(CC,5)~A(CC,5)*A(CC,2)/1000)*LOG(1-BA)
X=A(CC,4)/1000

S3=S3+A(CC,5)*A(CC,2)/1000*LOG(X )+(A(CC,5)-A(CC,5)*A(CC,2)/1000)*LOG(1-X )
X=UU*.9+.1*A(CC,3) /1000

S4=S4+A(CC,5)*A(CC,2)/1000*LOG(X )+(A(CC,5)-A(CC,5)*A(CC,2)/1000)*LOG(1~X )

NEXT CC
PRINT S2,S3,S4
END



G =E * LOG(E) -~ A * LOG(A) - B * LOG(B) + LOG(E + 1) Prje 20+ ST (0. bas
G=(G+1/2*LOGE/A/B/ 2/ 3.141592654)) * K .

FOR J = 1 TO K

IF J=CC THEN N=46 ELSE N=45

Z=N®*A(J,3) :H=X+2: L=Y+N-2:F=H+L ‘:PRINT X,Y,2,H,L,F
G=GC+H* LOG(H) + L * LOG(L) - F * LOG(F)

G=G+1/2*LOG(H * L # 2 *# 3.141592654/ F) - LOG(F + 1)

NEXT J

)
3
S
A



LA

FOR J = 1 TO 18 5Tio\.8As S TN ’
READ X, A(X, 2), A(X, 3), A(X~4), A(X, 5) W= 23 3‘*""""5?"0!.@@
FOR JJ=2 TO 4: A(X,JJ)=A(X,JJ)/1006: NEXT JJ:A(X,2)=A(X,2) ‘-.0091 -

NEXT J

K = 18: N=45: EPS=,01

UU = .2653889: S1=0: S$2=0:S3=0: S4=0 Daldbl, A-z.

FOR CC=1 TO 18 o a4 nob-
S1=0: HIT=0 MBS N prat |
U=(UU*810+HIT) /811 bata
A(CC,3)=(A(CC,3)*45+HIT) /46 *: PRINT A(CC,3)

R=1000: Gl= 0

10 GOSUB 100

IF ABS(G-Gl) < EPS THEN GOTO 20
R=R+1000: G1=G: GOTO 10

20 RR=R: GG=G

*PRINT RR,EXP(G),EXP(G1)

*END

FOR R = 2 TO RR

GOSUB 100

LL=LOG(R)*2

IGD=EXP(G)/R/LL

S1=S1+IGD

NEXT R

HO= S1+EXP(GG)/LOG(RR) ’ :PRINT HO

S1=0: HIT=1
U=(UU*810+HIT) /811
A(CC,3)=A(CC,3)+HIT/46 f: PRINT A(CC,3)

R=1000: Gl= O

40 GOSUB 100

IF ABS(G-Gl) < EPS THEN GOTO 60
R=R+1000: G1=G: GOTO 40

60 RR=R: GG=G

'PRINT RR,EXP(G),EXP(G1)

FOR R = 2 TO RR
GOSUB 100

LL=LOG(R)*2

IGD=EXP(G)/R/LL

S1=S1+IGD

NEXT R

H1=S1+EXP(GG) /LOG(RR) ’: PRINT H1
A(CC,3)=A(CC,3)*46/45~1/45

BA=H1/({HO+H1)

A=CC: B=BA: C=A(CC,3)-UU: D=BA-UU: E=C/D

PRINT USING "## ###.4## #.HERER #.#¥44F HH44.¥#4";:A,B,C,D,E
V=A(CC,2):VV=A(CC,5)

S2=S2+A(CC,5) *V*LOG(BA)+(A(CC,5)~A(CC,5)*V)*LOG(1-BA)
1 S$2=82+VV* (V-BA) A2

X=A(CC,4)

53=S3+A(CC,5)*V*LOG(X )+(A(CC,5)~A(CC,5)*V)*LOG(1-X )
’S3=83+VV*(V-X)~2

X=UU*.9+,1*%A(CC, 3) _
S4=84+A(CC,5)*V*LOG(X )+(A(CC,5)-A(CC,5)*Vj*LOG(1-X )
! S4=S4+VV* (V=X)A2

NEXT CC
PRINT S2,S3,S4

E

ND — Pa=/zhgof ST (o e S TN (e

100 O Gafirme (age  C ALY Y Mo,
X=R*U: Y= (lL~U) *R mee 2 )
A=X:B=Y: E=A+B *:PRINT A,B,E

S qasaf tﬂ "/‘aw- Vest af—S€TW ¢pa



PRINT
DEFDBL A-Z

’ST101->§;103

DIM A(20, 8)

DATA 1,346,400,290,367

DATA 2,298,378,286,426

DATA 3,276,356,281,521

DATA 4,222,333,277,275

DATA 5,273,311,273,418

DATA 6,270,311,273,466

DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510

DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70

K=18:N=45
FOR J = 1 TO 18
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

FOR JJ=2 TO 4: A(X,JJ)=A(X,JJ)/1000: NEXT JJ: A(X,3)=ROUND(A(X,3)*45,0)/45

NEXT J

S=0:85=0
FOR J= 1 TO K
X=2*%A(J,3)~1: Y=NA(.5)*ATN(X*((1-X*2)~(~.5))):
A(J,6)=Y
=S+Y
SS=SS+Y*Y
NEXT J
S=S/K
=55~S*S*K
W=(K-3)/V
FOR J=1 TO K
A(J,7)=S*W+(1-W)*A(JT,6)
A(J,8)=(SIN(A(J,7)*(N*-.5))+1)/2
PRINT J,A(J,7),A(J,8)
NEXT J
PRINT W,S,45*W/(1-W),W*S
r——

wyovi. RT7?

LS



ST ‘ob

FOR J = 1 TO 18 STwe rist> STI06

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

FOR JJ=2 TO 4: A(X,JJ)=1-A(X,JJ)/1000: NEXT 1JT:A(X,3)=1-A(X,3) *
NEXT J

K = 18: N=45: EPS=.01
UU = 1-.2653889: S1=0: S2=0:53=0: .S4=0
FOR CC=1 TO 18

81=0: HIT=0. ~
U=(UU*810+HIT) /811

A(CC,3)=(A(CC,3)*45+HIT) /46 r: PRINT A(CC,3)

Vel dol A-2.
D A (20,5 D

D ATA ctermant S

R=1000: Gl1= O

10 GOSUB 100

IF ABS(G-Gl) < EPS THEN GOTO 20
R=R+1000: G1=G: GOTO 10

20 RR=R: GG=G

‘PRINT RR,EXP(G),EXP(G1)

/END

SETMN oo

not (rmﬁr"- Y $°t~w

< od -{Qf
FOR R = 2 TO RR Ladie ST (o)

GOSUB 100
LL=LOG(R)A2 frecen -
IGD=EXP(G)/R/LL

S1=S1+IGD

NEXT R

HO= S1+EXP(GG)/LOG(RR) / :PRINT HO

S1=0: HIT=1
U=(UU*810+HIT) /811
A(CC,3)=A(CC,3)+HIT/46 *: PRINT A(CC,3)

R=1000: Gl= 0

40 GOSUB 100

IF ABS(G-Gl1) < EPS THEN GOTO 60
R=R+1000: G1=G: GOTO 40

60 RR=R: GG=G

*PRINT RR,EXP(G),EXP(G1)

FOR R = 2 TO RR
GOSUB 100
LL=LOG(R) "2

IGD=EXP(G)/R/LL _¢Ngf
S1=S1+IGD

NEXT R oINS
H1=S1+EXP(GG)/LOG(RR) ’: PRINT H1 g(GL\ o
A(CC,3)=A(CC,3)*46/45~1/45 57 Q'

BA=H1/(HO+H1)
PRINT USING “## #4#.4#4 #.#4##F  #. 44804 ##84.#44y CC,1-BA, (A(cCC,3)-UU), (
V=A(CC,2):VV=A(CC,5)
$2=S2+A(CC,5)*V*LOG(BA)+(A(CC,5)~A(CC,5)*V)*LOG(1-BA)
/S2=5S24+VV* (V=BA)A2

X=A(CC,4)

S3=S3+A(CC,5)*V*LOG(X )+(A(CC,5)~A(CC,5)*V)*LOG(1-X )

! S3=S3+VVA(V-X)~2

X=UU*.9+.1%*A(CC,3) ‘
54=S4+A(CC,5)*V*LOG(X )+(A(CC,5)-A(CC,5)*V)*LOG(1-X )

! S4=84+VV* (V=X ) 2

NEXT cC

PRINT S2,53,S4

END




, ST 19

DEFDBL A-Z
’ST77A->ST81->ST109

DATA 1,346,400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,521
DATA 4,222,333,277,275
DATA 5,273,311,273,418
DATA 6,270,311,273,466
DATA 7,263,289,268,586
DATA 8,210,267,264,138
DATA 9,269,244,259,510
DATA 10,230,244,259,200
DATA 11,264,222,254,277
DATA 12,256,222,254,270
DATA 13,303,222,254,435
DATA 14,264,222,254,538
DATA 15,226,222,254,186
DATA 16,285,200,249,558
DATA 17,316,178,244,408
DATA 18,200,156,239,70
RANDOMIZE TIMER
K=18:N=45:58=0:S5=0
DIM A(K, 5)
UU=.2653889: R=100
FOR JJ=1 TO K: X=0
FOR J=1 TO R
IF RND < UU THEN X=X+1
NEXT J
X=X/R: Y=0: ’PRINT JJ,X et sea A T pi o
FOR L=1 TO N
IF RND < X THEN Y=Y+1
NEXT L
A(JJ,3)=Y*1000/N: ‘PRINT JJ,A(JJ,3)
NEXT JJ ,

FOR J = 1 TO K
'GOTO 30

READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)

30 V.= A(X, 2) / 1000: 2 = A(J, 3) / 1000: W = A(X, 4) / 10600
S=S+2:SS=SS+2Z*%: ‘PRINT J,Z

NEXT J

U=S/K

SIG=SS/K-U*U:AA=SIG-U/N+SS/K/N:RR=U*(1-U) /AA

PRINT (SIG*18/15-(U-SS/K)/45)~~-1 ’-U*(1-U)/N/K ,SS/K’ ,RR,R



DBL A-g¢ ' 7ST112
PRINT |
FOR X= 0 TO 80 STEP .001
Y=EXP(~X)*SQR(X)
*PRINT X,Y
S0=S0+Y
S1=S1+Y#*X
S2=82+Y*X*X
NEXT X
U=S1/50
PRINT U, S2/S0-U*U




FOR J =1 TO 18
READ X, A(X, 2),

A(X, 3), A(X, 4), A(X, 5)

STii14.8As '
2T 160 % ST | |4

NEXT J

K = 18: N=45: EPS=.01

UU = .2653889 ’'+4.0091: S1=0: S2=0:83=0: S4=0
FOR CC=1 TO 18

S1=0: HIT=0

U=(UU*810+HIT/1000) /811
A(CC,3)=(A(CC,3)%45+HIT) /46

R=1000: Gl= 0
10 GOSUB 100
IF ABS(G-Gl) < EPS THEN GOTO 20
R=R+1000: G1=G: GOTO 10

20 RR=R: GG=G
*PRINT RR,EXP(G),EXP(G1)
FORR = 2 TO RR |
GOSUB 100
LL=LOG(R)~2 ,
IGD=EXP(G)/R/LL |
51=S1+IGD

NEXT R

HO= S1+EXP(GG)/LOG(RR)

S1=0: HIT=1000
U=(UU*810+HIT/1000) /811
A(CC,3)=(A(CC,3)+1000/46)

R=1000: Gl= O
40 GOSUB 100

IF ABS(G-Gl) < EPS THEN GOTO 60
R=R+1000: G1=G: GOTO 40

60 RR=R: GG=G . E
’PRINT RR,EXP(&),EXP(G1)
FOR R = 2 TO RR
GOSUB 100
LL=LOG(R)~2
IGD=EXP(G)/R/LL
S1=S1+IGD

NEXT R
H1=S1+EXP(GG) /LOG(RR)
A(CC,3)=A(CC,3)*45/45-1000/45
BA=1000+*H1/(HO+H1

PRINT USING "“## S#¥.4#8 FKE##. 04
BA=BA/1000

Dn-@db; A~z

*: PRINT A(CC,3)
Dwa A(ao,;)
P!QTﬁvcf\ﬁ»wu»rg

Cetn 100

o
Nev (s fomd Wuver y
Soor h}l\ub o ST o) fo-

(U,
* :PRINT HO
*: PRINT A(CC,3)
’: PRINT H1 RS it

T3 EN 1 ####.###”:>CC,BA, (A(CC,3)=1000*UU),

S2=S2+A(CC,5)*A(C +2)/1000*LOG(BA)+(A(CC,5)~A(CC,5)*A(CC,2)/1000)*LOG(1-BA)

X=A(CC,4)/1000

S3=83+A(CC,5)*A(CC,2)/1000*LOG(X )+(A(CC,5)~A(CC,5)*A(CC,2)/1000)*LOG(1-X )

X=UU*,9+.1%A(CC,3) /1000

S4=S4+A(CC,5)*A(CC,2)/1000*¥LOG(X )+(A(CC,5)~A(CC,5)*A(CC,2)/1000)*LOG(1-X )

NEXT CC
PRINT 52,583,584
END




DEFDBL A-7 | \

PRINT ” *ST77A->ST81->ST109¥>ST118
Vavy teM

T2y

DATA 1,346,400,290,367
DATA 2,298,378,286,426
DATA 3,276,356,281,52Y
DATA 4,222,333,277,27, .
DATA 5,273,311,273,418 ‘
DATA 6,270,311,273,466 6"/25 Vevseon
DATA 7,263,289,268,586

DATA 8,210,267,264,138

DATA 9,269,244,259,510 ,

DATA 10,230,244,259,200 P

DATA 11,264,222,254,277

DATA 12,256,222,254,270

DATA 13,303,222, 2%4 435

DATA 14,264,222,254,538

DATA 15,226,222,254,186

DATA 16,285,200,249,558

DATA 17,316,178,244 . 408

DATA 18,200,156,239,70

q

K=18: N=45: UU=.2553889 VT
FOR J = 1 TO K

READ X, A(X, 2), a(X, 3), A(X, 4), A(X, 5)
NEXT J

=TIMER

Jot Lok . 0o )

" FOR S=.01 TO .4 STEP .0l
S2=1 I T e

-~ l z =M 2 2(4-2) 26"
’7?6§/J=o TO K k
S1=0: SS=2*S*S: Al=1/5S: Z=A(J,3)*.001: Z1=2#Z*(1-Z): Bl=N/Z1

\ BGM% 5 &% Sarellww Joo |

FOR U-O TO 1 STEP| .00%
-u A= U-T ; 8=mf-v

-A*A*Al'-B*B*\BLD S1s ¢y &4 exp (— @"V)L/z,s?- - Q’fl""‘>/z.5,-"->

S2=S2%S1*SQR(R*B1) /S s = |
EXT J @& Goved: J 23 =

PRINT USING " 44 ":;S8, : PRINT 8S2

EXT S
PRINT TIMER-T

— Q—{h}.z‘{. Wr = “‘A*A(“‘ B2gxE) AN

ré& W >--loc}=é Cruan, @ 5“._.5’“@}?(“’) 7) :’:"‘Ms.;y_g:_é__:w
- e W e A A

Pgm g . AU =
= oges

ol s oo | e Wi e 1y wiher- Tt "‘“‘g
&3 ‘
2_\ Trrs

.o qy L.Fgfy




DEFDBL A-Z

PRINT

DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA

K=18:

1

4

i
1,346,400,290,367
2,298,378,286,426
3,276,356,281,521
4,222,333,277,275
5,273,311,273,418
6,270,311,273,466
7,263,289,268,586
8,210,267,264,138
9,269,244,259,510
10,230,244,259,200
11,264,222,254,277
12,256,222,254,270
13,303,222,254,435
14,264,222,254,538
15,226,222,254,186
16,285,200,249,558
17,316,178,244,408
18,200,156,239,70

(N%iOOOOO: UU=.2653889

FOR J =1 TO K
READ X, A(X, 2), A(X, 3), A(X, 4), A(X, 5)
NEXT J

T=TIMER

’ST77A->ST81->ST109->ST118

N‘ n’&, i S‘&va‘s’

-ATE R Yars on |

Svep ot U, Avedll voviwd .

Debratig: gy

L%

Ot 1 svep b

Yt6tet vtap ‘o0 t,

&

FOR S=.03 TO .07 STEP .001

S2=1

FOR J=0 TO K
S1=0: SS=2%S*S: Al=1/SS: Z=A(J,3)*.001: Z1=2%7%(1-Z): Bl=N/Z1

FOR U=0 TO 1 STEP .00]

A= U-

uu: B=Z-U

=~AXA*Al-B*B*Bl
IF W> -~10000 THEN S1=S1+EXP(W)
NEXT U

S2=82*S1*SQR(2*B1)/S
NEXT J

PRINT USING "

CHEEE OV

NEXT S

PRINT TIMER-T

s, :

PRINT S2
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2.~(a.73

Ve
C:\DOS>gbasit

.255
.255
.255
.255
.255
.255
.255
.255
.255
.255
' .255
.255
. .255
.255
.255
.255
.255
.255
.255
.255
.255

N

S0 b
mf‘ =S h&.gh(u‘,qg‘ﬁqé‘

R
1024
2038
4096
8192
16384
32768
65536
131072
262144
524288
1048576
2097152
4194304
8388608
1.677722E+07
3.355443E+07
6.710886E+07
1:342177E+08
2.684355E+08
5.368709E+08
1.073742E+09

Press any key t5\rpntinue

L

e e e et -

Wv
/
¥ "
Lo 3

-

=-392.7399
-386.7145
-380.5886
-374.411

-368.1984
-361.9536
-355.6865
-349.6608
-342.8088
~337.9299

~323.6474,,
-317.3738y,

-299.8265

\

5 Yy
‘281-40 5) “3 1

~368.0446
-955.996
834.8065
=-1150.06
-3840.126
17004.11

|
!

re

i



.81000J002384186 -481.941283005955

Ouput ot S TEtVgo s

SOf .

»2653889 ) ~481.51984094921

.2653889 1.1455#298889395 -482.125854416015 -482.39755953983

.2653889 1.62000000476837 -481.825089511145 -482.789941815521

.2653889 2.29102597778791 -481.084825540116 -482.742825025051

.2653889 3.2400q000953674 ~479.981424703015 -482,33257136851

.2653889 4.58205195557582 -478.612534344985 -481.65682819104 7

.2653889 6.48000001907349 -477.086631500316 -480.824072526931 @

.2653889 9.16410391115164 ~475.513419591969 -479.944007799144

.2653889 12.960000038147 -473.995306617665 ~479.1190420054 c“-'<l-‘23~7 3.6

.2653889 18.3282078223033 -472.619193148316 -478.436075716611 >

.2653889 25.9200000762939 -471.448371684964 ~477.958401433819 =
2653889 36.6564156446066 -470.516066396669 -477.719243326084f?“N’aggh;gs

.2653889 51.8400901525879 -469.82351207855 ~477.719836188525

.2653889 73.3128912892131 -469.34472031131 -477.934191601845 -«
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